I am writing to provide my views on the mobility element of PIP.

 

I do not think the higher rate (12 points) should be based on 20 metres. I think it should remain at 50 metres as it was with DLA.

 

People who need mobility vehicles, often with alterations to fit their disability, will lose their vehicles and not be able to afford to buy/convert their own. Many of these people rely on their mobility vehicles to get to and from work. Withdrawing such vehicles will mean many will have to give up work. This is really bad for the economy. Others rely on them to get out and about, for visits to the doctors, hospital and shops. Without them many will be housebound. That is hardly promoting independence which is in the title of this benefit. The same applies to disabled people who depend on taxis and other forms of help to get around. If they do not get the higher rate many will not be able to afford to get around, again limiting their independence and causing many to be housebound. 50 metres is a reasonable distance in defining which of the disabled need the higher rate; 20 metres is not. The non-disabled, with normal walking, would be shocked by how much being unable to walk more than 50 metres restricts one's life, if it happened to them.

 

Those who have the most need already get the higher rate DLA and should get it on PIP too, which means leaving the distance at 50 metres, which is a reasonable distance for needing such help.

 

This reduction in distance is clearly to cut the number of people on the higher rate and has nothing to do with targeting those most in need as constantly said by the government. This is a highly misleading statement. 
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